Version 1.0

PR e MC400QUAD User Manual

Micro QUAD Flyer designed for Aerial Video Application

WA W R AT BARANE

BHEHEE MC400QUAD | ER—AMEATIAMERITR. HET IR MCE500PRO IS =HEM R, HH TR KERITRM
&, MC400QUAD AF#ERE/|\. E8IE. HEEE. SR, RE2MSEEY, 2EHKR. BHRE. FEXH. WIZEF
THIBAMERRETIA,

Thank you for purchasing MC400QUAD. It is a micro QUAD Flyer specifically designed for aerial video application. It is developed from the
popular MC6500PRO. Compared to other medium or large aircrafts, MC400QUAD has the following feautures: smaller size, lighter weight,
higher mobility, longer flying time and higher security. Itis an ideal aerial video tool for meeting records, performences, press conferences and
shooting in limited space.

EB AR AL
Packing List

1xMC6500PRO Camera Gimbal 1xMC6500PRO-L (Landing Gear) 1x MC6500PRO-A (MC400QUAD Frame)
1x MC6500PROfTHE = 1x MC6500PRO-L (BJZR481%) 1x MC6500PRO-A (MC400QUAD# & #R14)

A+B=MC6500PRO V3L

A+B+C=MC400QUAD

for any flyer which no landing Gear for 450EP R/C Helicopter Complete picture of MC400QUAD

MC400QUAD User Manual Welcome To v Page 1
www.cnchelicopter.com



EEFHMA:
1.MC400QUAD £ i MCB500PRO =2 (2 3.0 [ _ERRAS) F1 MC6500PRO—L |3l & MCB500PRO—A 4 4B & T AL, Bh— AT,
2 MC400QUAD REFEREEIIIMIETCETHE, ZARTENRITHRTESESE. REE. KiE. 7. BEf. 1. TEHR

E 4N
3R FHREAARGAE. UERFRE.,
Important:

1. MC400QUAD is combined with MC6500PRO(3.0 version min) , MC6500PRO-L and MC6500PRO-A.

2. MC400QUAD does not include other electronic devices but two servos. if you want to assemble a complete aircraft, you need to purchaseother
devices, such as:flight control, motor, ESC, radio, battery, charger, etc.

3. Please carefully read the assembly instructions for a smooth assembly.

#H & MCB6500PRO—L
Assemble the MC6500PRO-L

M3 x 30 FEEEZH
M3 x 30 Nylon Pillar

M3 x 10 EEE48 4%
M3 x 10 Nylon Screw

AT ERHRNESHRITES ATHIEAS0 EHEAHE AHEFER®
for any flyer which no landing Gear for 450EP R/C Helicopter Direct clamping installed
MC400QUAD User Manual Welcome To %% Page 2

www.cnchelicopter.com



#H &= MC6500PRO—A
Assemble the MC6500PRO-A STEP 1

HEFEARFBERKESKAN AR
Before assembly, please adjust the direc-
tion of the Motor scrow holes.

4 RBARTH
Complete assembly of the four-arms

.
MC400QUAD User Manual Welcome ToSZ  pyges
www.cnchelicopter.com



#H &= MC6500PRO—A
Assemble the MC6500PRO-A STEP 2

T

' M3 x 6 EEEMA R4 EIZE
EENE AL M3 x 6 Socket Screw and Nut

Attention to the position of screw holes

t .".('

- —— S W o,
.- - e - —

. - - e— Ve Y -A
~ .
o -
. "‘ a, |
- a,

A
|
i
b
|
®

M3 x 10 fE#eiE AFniZ
M3 x 10 Nylon Screw and Nut

MC400QUAD User Manual Welcome Toy Page 4
www.cnchelicopter.com



#H &= MC6500PRO—A
Assemble the MC6500PRO-A STEP 3

HRE R BB EEZESN
Glue the Mounting Plate to the top of the Gimbal.

D
S -
£

M2.5 x 6 EIE M g4k a8 &
M2.5 x 6 Socket Screw and Nut

M3 x 20 Nylon Pillar

M3 x 10 JEREIR 4%
M3 x 10 Nylon Screw

M3 x 10 fEBE48 4%
M3 x 10 Nylon Screw

TR HF TR AR AN E it E E AR
Assemble the Top Plate and Battery Plate.

M3 x 20 ERE X
M3 x 20 Nylon Pillar

fIF 1. R&DJI NAZA Feiz f5IF 2. ZHEDJII WK—M IMU #E18
Example 1: Install the DJI NAZA F.C. Example 2: Install the DJI WK-M IMU Module
MC400QUAD User Manual Welcome ToSZ Page 5

www.cnchelicopter.com



#H &= MC6500PRO—A
Assemble the MC6500PRO-A Complate

a N

M3 x 6 EIRR 7S U4k I002 &
M3 x 6 Socket Screw and Nut

BEHNES
The weight of MC400QUAD Parts

MC6500PRO-L 63.59

2 . s

MCB500PRO-A 1629 \\ > /

\ /%
MC400QUAD User Manual Welcome ToSZ Page 6

www.cnchelicopter.com



MC400QUAD gy R ~t
The dimension of MC400QUAD

135mm

Welcome ToSZ
MC400QUAD User Manual ety e Page 7



